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1. 2.

There are 150 objective multiple choice questions in this paper. This Question Booklet isimade up of the following
four sections : Section-I, II & III of 30-30 questions each and Section-1V is of 60 questions: The candidate has to
attempt all sections. Each question is of one mark. There is no negative marking for wrong answer.
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PAPER CODE : L2-2011

Total questions : 150 Time period : 90 minutes Maximum Marks : 150
: No. of Question Nos. Page Nos.
Section Contents ) Questions From To From To

(1) Child Development and Pedagogy 30 1 30 3 10
(I1) Language I [Only One Language) 30 31 60

As selected by the candidate as medium of
instruction in the Online Application Form from the
Languages given below :

Hindi 30 31 60 11 14
English 30 31 60 15 18
Sanskrit 30 31 60 19 22
Urdu 30 31 60 23 26
Sindhi 30 31 60 27 30
Punjabi 30 31 60 31 34
Gujarati 30 31 | 60 35 38
(I11) Language II (Only One Language) 30 61 90

As selected by the candidate as Language-l { other
than the Language< ) in the Online Application
Form from the Languages given below :

Hindi 30 61 90 39 42

English 30 61 20 43 46

Sanskrit 30 61 90 47 50

Urdu 30 61 90 51 54

Sindhi 30 61 90 55 58

Punjabi 30 61 90 59 62

Gujarati 30 61 90 63. 66

(IV) (IV a) Mathematics and Science 60 91 150 67 80
(For Mathematics and Science Teacher)

(IV b) Social Studies 60 91 150 81 92

(gcﬁr Social Studies Teacher)

For any other Subject Teacher
(Can choose either IV a or IV b)

Note: 1. In Sections Il and Ill, a candidate has to attempt the questions of Languages compulsorily, as
selected Language — I and Language - Il in the Online Application Form.
2. In Sections 1V, it is compulsory to attempt the questions of Section IV (a) or Section IV (b) as selected
subject in Online Application Form. For Hindi version of the above Table & Note refer to Page No. 2

[ Read the instructions in English & Hindi at Page No. 96, last page of this booklet. |
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SECTION -1/ @vug - I
CHILD DEVELOPMENT AND PEDAGOGY
e o v frememe
There are 30 questions in all in this Section.

All questions are compulsory.

WEE A Fd 30TH T |

|t e afrard §
1.  Ability of knowing the meaning of problem, weaknesses and gaps .related to
environment is a characteristic of
(A) Gifted children (B) Average children
(C) Creative children (D) None of them.
O & 3 HT T HY G, SaEe F A, wial e el &)t ws e §
(A) SRR SeTen! w6 (B) WA SIcThi i
(C) YR aTetehi i (D) [ TAH BHIE 7T |

2. A college girl developed the habit of dropping the coat on the floor. Mother asked the
girl to get out of the room and hang dpnathe coat on the peg. The girl enters house,
keeps coat on, approaches closet, hang up the coat on the peg. It is an example of

(A) Chain learning (B) Stimulus Response learning
(C) Concept learning (D) all of these.
T FiAS S oell TSt 3 Tl Wl e i 3Ed o6 of § | TSH! Y A 3 SHY FaT fE
FW Y TET el 2R F2 B G W AN | ASH! SFRA IR W H JAW HI@ §, FIE B 89 W
@ H STTAN T T o ol Pl Gt R 7 A § 1 97 I8 ®
(A)  HEarE Al @ (B)  SEuA-rfsRan A
(© Yo SfrTE (D) FH & A
3. Extrinsic motivation may include
I. Praise & Blame
I1.), Rivalry
III. Rewards & Punishment
IV. Knowledge of results.

Of these : .
A) I and III (B) I, IT and III
(C() Onlyll (D) all of these.

LI [ PT.O.
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wred Afaeon F wEElE fear s
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III. &R T§ T8

V. qfomd &1 99 |
T @
@ 13RI B I, IR 11
(C) e II D) wTHIWR
A process in which an individual learns new responses by observing the behaviour of
another rather than through direct experience is known as
a) Social learning (B) Conditioning
(C) Experimental learning (D) Incidental learning.
5@ ufthan & safe TRl % aeR o+l 38 R diEdl § 7 5 el $gd o, Sl e S §
A) S AR B) _ STIs=d
© IR sfm (D) afeRfEen SAfrm |
The symptom of learning disability is
a) tendency to escape (B) restless, energetic and destructive
(C) disorders of attention (D) lack of motivation.
sifem Fordfveran 1 e ¥ |
@) W ygha we (B) oW, SeidM Ud fawas g
(C) EYA Fwre =l /4 faesr (D) RIS |
Which statement s not\true about interest ?

(A) Interests are innate and acquired
(B) Interests change with time
(C) Anterests are not related to capacities and aptitude

(D)e. Interests are not reflection of attraction and aversion in behaviour.

fAfdda-aFrAsaFm i ga ¥ ?

@) Freal S o stfa 9 @t €

B) <ol 999 % STTER eew! @l §

() il draaetl we erfusmaretl @ wifem & g §
(D) <ol =gaeR ¥ sy Td fawyw & yiafa= 7=t § |
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10.

" The attitude is

L-2

(A) an emotionalized tendency organised through experience to react positively or

negatively towards a psychological object

(B) a characteristic that is symptomatic to the individual’s ability to acquire with

some specified training, some knowledge or skill in a given field

(C) a potential ability of an individual of a specialized kind

(D) none of these.

s &

(A) TF 9EHS FIN S VS F gR1 Eied e fRe aeeie asg % wfa weet @
e % w9 o wfafm e}

B) T A fwa W wAtE w5 v & ufeas ¥ R yew & fafg wive, e
SHeraT FIYA § W@ W TR @

(C) = &t oy eman <Y T fafw w1t et ?

(D) ¥ § T |

In personality as well as intelligence heredity plays

(A) a nominal role (B) a‘great.role

(C)  unpredictable role (D) [ fascinating role.

e T gfg § SEA H

(&) A H fee ¥ B) wEEyu Y @

(C) sryEigAa qfe § (D) 3Thu% fiet ¥ |

Which of the following is the storehouse of our unfulfilled desires ?

@ Id (B) Ego -

(C) Superego (D) Id & Ego.

o geomell &t yfid =g @, S wveR e FE H @ wE-w ® ?

@A) TH B) ST'H

C) 9 T D) /AT A |

Deferice mechanism helps us a lot in dealing with

(a) violence (B) stress

(C) “ fatigue (D)  strangers.

&) o 9gd e AT §

() féwmd froe 8 B) <TEEdfFTRAH

(© u&[ A froed | (D) oA | faged &

NRENAT 0

[ P.T.O.



L-2
11.

12,

13.

6 (€]
Right to Education Act, 2009 states that a teacher shall perform which of the following
duties ?

(A)  Maintain regularity and punctuality in attending school

(B) Conduct & complete the curriculum

(C) Complete entire curriculum in a specified time

(D) Al of these.

faren =1 atfuser stfafrem, 2009 ¥ & Awaw ® fF=1 § 9 fFa o & U e gme?
() foumeE ¥ frafaa $9 @ 999 W Safeed g9 g

(B) UISWSHH K HRCH X qU HIAT &1

) wwul uBwsRH w FuifE w97 W qu e e

(D) ™ aad |

National Curriculum Framework, 2005 suggests some activities to_promote peace
education. Which one of the following is enlisted in the curriculum framework ?

(A) Organise programmes to promote an attitude of respect and responsibility
towards women

(B) Teach moral education
(C) Teach peace education as a separate subject

(D) Integrate peace education in the curriculum.

YT IIewshy 9@, 2005 ¥ wf<r fen = sgran 31 sfau F fraei =t srvm =t
STy TR ¥ e H ¥ Rl geies TR T e e

(A) ﬂﬁwaﬁ%uﬁmwﬁﬁaﬁwmﬁﬁeﬁmﬁ%mwmﬁmm
B) A foan &t wg™ W@

(€ i foen A T oter. famg & ®u_H Tern w1

(D) i foen 1 wreTsHl ® wimfen & S& |

National Curriculum Framework, 2005 talks of major shifts from
(A) knowledge as given and fixed as it evolves and is created
(B) edueational focus to disciplinary focus

(C) learner centric to teacher centric

(D). none. of these.

g AEEEE %) ®q@n, 2005 § ST B @

(A) . FA T R 9 T S ¥ @ 9H e S @ oiR gEe) W S @
B) dfE Fx A fTEFET AW

() ot S @ e Hisa =) 3R

(D) T & & T |



14. The objective of action research is to
()  gain new knowledge
(B) develop the science of behaviour in educational situations

(C) modify the educational practices in school and classroom
(D) all of these.

ToRarcHsh STTHYM &1 Se¥d R

A) FEHE IE H @S

B) e uftfeafadl # =gaer fagm &1 faw™

() foremerm aun wan Y i F yonedt § GUR o
(D) 378 |9 |

15. In the National Curriculum Framework, 2005 under the heading ‘Examination Reforms’
which of the following reforms has been suggested ?

(A) Open book exams

(B) Continuous and comprehensive evaluation
(C}  Group work evaluation

(D) Al of these.

T IrSadl SO, 2005 % A= CulE guRl' @ £ 3 96T QUR B e ™R 7
&) gl gEe e B) | HaE/ R @ s qeaie
€ wﬂ%mmﬁw’m (D)o 30 & w1
16. Which of the following statements is not true about development ?
(A) Development is thegproduetof interaction
(B) Development follows an orderly.sequence
(C) Development is individualized process
(D) Developmentsproceeds from specific to general.
fAdd -G g Tem Ao F g A& € ?
@) T R e B T T e sfwen i g &
€ FFm T Aw g 2 (D) o fafee @ gra &Y SR G R

17. Children’s thinking is grounded in concrete experiences and concepts rather than
abstractions: It is the stage from

A/ 7to12 years (B) 12 to adulthood
(C) "2 to 7 years (D) birth to 2 years.
FAGTH! ! Tra ST H e T AT T T | el © | 98 ST €
&) 791298 B) 129 T TH

€ 29 7987H (D) 9d 2997 |

Tt pTo.
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18. Human development is the product of joint contribution of both

A parents and teachers - (B) sociological and cultural factors
(C) heredity and environment (D) none of these.
Tre foskrd fofa AT & Fem & aftoms § 2
@A) HARIEF T ATF H (B) WIS Ta Wiwhias FRI &l
(C) Y%A T SRR & D) 3 | &6 . |
19. Which of the following is not among the four determinants of intellectual growth stated
by Piaget ?
(A)  Social transmission (B) Experience
(C) Equilibration (D)  None of these.
e § 9 o1 9 ¥ R difgw fawm o fyles aa 7@ €2
(A) ISR HEXO B) v
(C)  HerHT D) ¥ A FEAR |

20. Which of the following is a better strategy for teaching children with special needs ?
(A) Discussion in the classroom involving maximum number of students
(B} Demonstration by teacher involving students
(C) Cooperative learning and peer tutoring
(D) Ability grouping for teaching.
Ry sTavaeRar aret sl S TeM & fau fFrafefe ¥ @ FA-dt Sgete st sugw ® 7
(a) fusran g o1 Aiafaq Fd T R == R
B) el = wfwfag @ gu s g1 FeyH
(C) HEeRI fam qen dieR =gefin ( wewisdl g swfiem )
(D) steAE & AT draar snenfa QEgiehe |

21. The personal factor(s) which affect learning is / are

(A) Mass media (B) Peer group

(C) Teachers (D) Maturation and age.
AAferT st gIfeg S ATen SAeTd FRE §

(&) HERF FEA (B) HIEE AT

(C) A¥@MIh (D) it wd Ay |

22. A cricket player develops the skill of bowling, but it does not affect his skill of batting.
Itds known as
(A) ¢ positive transfer of training (B) negative transfer of training
(C) \_zero transfer of training (D)  none of these.
T fshope ot oot Hgemst & Hivet i fasfad = od §, W I8 IHF Tociarst & HIvd i
yonfea I w1 T8 wEd ¥
() fadarres wigw s=Ro B U wiige s
(© = W <R D) ¥ 4 FE 7= |
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23. Which of the following statements best shows the mental health of a person ?

(A)  Full expression, harmonization & goal direction

(B) Lack of mental disorders

(C) Free of personality disorders

(D) All of these.

e A @ lR-w wue fRet =% & Amias e 9 3T ® 9 | weiia w2

() i feafs, Enfasor sl wme T Wt eI

B) wAMESE fawii & 7 g

(€ e ¥ ol @ O

(D) TR

24. Though number of psychologists like Freud, Piaget explain personality dévelopment in
terms of stages but only Piaget talked of

(A) developmental stages which are determined by the environment
(B) restricted effects of stages to early infant experience only
(C) cognitive transformation to explain stages

(D} none of these.

TS, WS Td 31 HHI991e) A safha faere o1 fafys sewensti & a<s § =amem &t § | /"y
o™ A

A)  Fe o fowm o e aaEry AfHEiig e €
@) Fel T Svameeen F sgya et sfumw wufad wa €, st orewenstl & €ifad v g €
) fafim sraeensii & TumA & ot SRS Jead & aR d F9

D) T ¥ FE T

25. Guilford has given the term ‘convergent thinking’ as equivalent to
(A) Intelligence (B) Creativity
(C) Intelligence and creativity (D)  none of these.
e 3 * AfRER o’ 98 o W foras s o 1§ fean v 2
@A s (B)  YoHTCHR
(C) g T Gorireenar (D) ¥ 9B T |

26. Which of the following will serve as a most satisfying defence mechanism for the
physically handicapped individual ?

(A) Identification (B) Rationalization
(C) w'Fantasy (D)  None of these.
Wi it o safs & o 7 § @ - 3o w99 3 wof darses grn ?
(A)  TTETCHTeRROT B) fHEmEww '
© oHfhea D) T @ FE T |

NRTRAR A0 ~ [ PT.O.
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28.

29.

30.
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Children’s Apperception Test was designed for children between ages 3 and 10. The
CAT cards substitute

(A)  non-living objects for living objects  (B) animals for people
(C) females for males (D) children for adults.

TR TEIEY T 398 | 10 99 FY G F aernl & A s T ¥ 1w e § we |
yfireentya el 7 €

@) ATl FwARASaagsi®  (B) @l % T™E W SAHS B
(C) &S F TIF W qigensit &1 (D) I & TIH T Al hl |

In order to nurture creativity, a teacher should take help of which of the following
methods ?

(A) Brainstorming (B) Lecture method

(C) Audio-visual aids (D)  All of these.

YAl & 9v % fag & oreadss & fre o Q forw fafl ot weraan o =fzw 2
@) ¥ =/ faErEw B) _=ed fafy

©  T¥-FA Wit (D) @4 st |

Which of the following statements is incofrect ?

(A) Need is not a physiological stage'ofideprivation
(B) Drive is a psychological{consequence of a need
(C) Need and drive are,parallel.but notddentical
(D) Instincts are innate biological force.

79 4 @ F-W FuA wehAEi € 2

(&)  STETEH SN AR ST e §

(B) STl SJTERAhAl Tl HATITIAR qROm §

(C) STeRTHA T Arle T TE1 &, sfceh THARR
(D) WErSfEr STk S o 8 |

Right to,Education Act, 2009 specifies the minimum number of working hours per
week for the teacher as

(A) forty hours (B) forty-five hours

(C) v ifty hours (D) fifty-five hours.

foren 1 erfupr erfuftam, 2009 ¥ ww sreAmvs & fou =9 w1 He ufa v fFuifa fFd 7 8
() =l H B Y =R

© TN (D) Y9 R |
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TMEEHFA 30TH T |
Yty siferd § |
‘T g’ 1 S2eE o @
(A  EEE H A FHEE (B) HHH &I e
© T = wEm (D) 3T Q9 FH |
fordt wrafed g0 T Ay e STNfaal Sy 99 W oI WESREEE, 90 SRy HEad §
@ aRT= B) fammm
© fagem (D) [ e, |

GO T HeA (33 - 35 ) & foaw fr meiw & v 8,96 o R 9 T e F IWT

FEN I VR HIY WAEF BALE | 9% Haa Al IR wggha F g A 781 e, afew 9fa
1 o & a1 ¥ | fRE gan en Rl i afe g8 @i 5w w3 A S went & wAe €,
W 3Y fA-Ta otefa & e A fRwt st $iK afs =st ghh df wew |7 Al s1g % wu e g,
< 39 fiar At &t AR ISnr S, |

RN R ERT|

@) FETH HEW B) =i Efa
© wufa (D) I N |
‘g’ where §

A I wef (B) e % weft
(C) ( wfid o wet (D) TaEfa |
TH T R FEE 9§ |

(A) G 1 AR (B) IRy
©) ifs otk wggfa (D) =Af |
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(0) e |
79 9 | 3299 ¥

(B)  Wgerht

(D) U=

B fwrm

D) ®EEWE |
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@) faew feg ® v

C) HiEH D) 39 fwm |
e g i |

() arend Wee g B) s wae g ?
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SECTION - II
LANGUAGE I
ENGLISH

There are 30 questions in all in this Section.

All questions are compulsory.

Note : Please read the following stanza to answer Question Nos. 31 and 32 :
“The Jamuna’s waters rush by so quickly,
The shadows of evening gather so thickly,
Like black birds in the sky ...

O ! If the storm breaks, what will betide me ?
Safe from the lightning where shall I hide me ?

Unless Thou succour my footsteps and guide me.

Ram re Ram ! [ shall die.”
“Like black birds” in the above lines in as examplé of
(A) - metaphor (B) simile
(C) hyperbole (D) pun.

We can find an example of alliteration in.the above lines in

(A) Ramre Ram - (B) I shall die
(C) The Jamuna’'s.waters (D) The shadows of evening.
An elegy is a

(A) sad poem, usually about someone’s death

(B) love poem

(C) " prayer

(D) poem about someone’s marriage.

The phonetic symbol for the first sound ( underlined ) in the word ‘ship’ is
@ /7 B /sh/

€ /ch/ . o /.

L-2

[ P.T.O.
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16
Direction for Question Nos. 35-36 : Pick out the correct phonetic transcription of the
following words :
Pick
A /pllk/ B /pi:k/
© /pk/ (D)  / plkk /.
Try
A /trl/ (B) /tral/
(@4} /tri:/ (D) /trae/.
The opposite of the word ‘support’ is
(A) help (B) argue
(C) oppose (D) return.
Which word is opposite in meaning to ‘interesting’ ?
(A)  confusing (B)  boring
(C) contrasting (D) pleasing.
Choose the word with the correct spelling :
(A) fenancial (B) financiel
(C) finencial (D) [ financial.
Pick out the word which has been.correctly spelt :
(A)  situetion (B) setuation
(C) situation ' (D) situasion.

Rahul said to Veena, “Please return my‘books early.”

In Reported Speech the above sentence will be

Rahul requested Veena to

(A) return her books early (B) return my books early

(C) return his books early (D) return their books early.
Which onelof the options has the same meaning as the following sentence ?
The Taj Mahal is the most beautiful building in India.

(A) __ India has many beautiful buildings

(B) .The Taj Mahal is more beautiful than any other building in India

(C)Y India has only one beautiful building, the Tal Mahal

(D)  The Taj Mahal is a beautiful building.

Pick out the correct ‘wh’ question :

(A) How much money do you want ? B) How much do you want money ?
Q) How much do you money want ? (D) How much money you want ?
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Which one of the following words is similar in meaning to ‘purchase’ ?
(A) Buy (B) Sell
(C) Receive (D) Supply.
The word ‘inspection’ is similar in meaning to
(A) interview (B) exercise
(C) getup (D)  check up.
Which one of the following phrasal verbs means ‘to stop doing an activity or.a job' ?
(A)  take up (B) rundown
(C) give up (D) look for.
Which one of the options will complete the phrasal verb in the following sentence ?
Thadtofill ........cvvveeininnnnninn. three forms to get my driving licence.
A up (B) into
(C) down (D)  over.

The passive voice of ‘We make butter from milk’is

(A)  Butter is being made from milk

(B) Butter has been made from milk

(C) Butter was made from milk

(D) Butter is made from milk.

Which is the correct passive voice of thefollowing sentence ?

They have painted the doer.

(A) The door was painted (B) The door has been painted
(C) The door is painted (D)  The door be painted.
My sister saidy “I'am enjoying my work.”

In Reported Speech the above sentence will be

My sister said that

(A) __ shewas enjoying her work

(B) I was enjoying my work

(C)  she was enjoying my work

(D) I have been enjoying my work.

To express ‘necessity’ we use the modal

(A)  may (B) must
(C) can (D)  might.

T . (pro.
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52. Complete the phrasal verb in the following sentence :

I usually go to bed early and also get ..................... early.

(A) out B) off

€ up (D) into. L
53. Which one of the following options will complete the phrasal verb in the follow_gpgé,_

sentence ?

The train slowed .........c...ccevnnenee. and finally stopped.

@A)  up (B) over

(C) about (D) down.

54. Pick out the phrasal verb which means ‘to take care of” :
A) run after - (B) look after
(G runinto (D)  look for.

55. Complete the phrasal verb in the following sentence :

The tourist guide pointed .................cooeeveele the most .important buildings.
(A) in (B) out
(C) off (D) on.
56. Which one of the following words is a verb 2
(A)  Sympathy (B) Sympathise
(C) Sympathetic (D) Sympathiser.

57. Fill in an appropriate determiner, :
.............................. first itetn in today’s programme is a song.

(A) The (B) A
(C) Any D) Some.
58. Supply the correct form of the verb in the following sentence :
She ...c.covvven e a new dress last week.
(A) has bought (B) has been buying
(A buys (D)  bought.
59. Which one of the following sentences has the correct verb form ?
(A) They already seen the film (B) They already saw the film
(C)/ They will already see the film (D) They have already seen the film.

60.«"May I'enter your office ?
In the above sentence ‘may’ has the meaning of
(A) permission (B) possibility
(C) probability (D)  order.

LE
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SECTION -~ III
LANGUAGE II
ENGLISH

There are 30 questions in all in this Section.

All questions are compulsory.

Note : Read the following stanza and answer Question Nos. 61 and 62 :

“Silence hath bound thee with her fatal chain ;
Neglected, mute and desolate art thou,

Like ruined monument on desert plain :

May be by mortal wakened once again,
Harp of my country, let me strike the strain !”

The line ‘Like ruined monument on desert plain’ is an example of

(A)  simile (B) metaphor

Q) . elegy ' (D) hyperbole.

Which one of the following phrases gives us an example ofialliteration ?
(A)  harp of my country (B) strike the strain

(C) with her fatal chain (D) desolate art thou.

A sonnet usually contains
A) eight lines (B) six lines

() twelve lines (D) fourteen lines.

L-2

Direction for Question Nos. 64-66 : Pick out the correct phonetic transcription of the

following words :

Like

(A /lalk/ (B) /11k/
©) /laitk/ (D) /lu:lk/
Tree

@ strly B  /tre/
Q) /tri:/ (D) /trel/
These

@Ay /dls/ B  /6i:z/
(C) /0lz/ (D) /di:z/.
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The opposite of the word ‘familiar’ is
(A) related to a family (B}  personal
(C) strange (D)  unfriendly.
The word ‘creative’ is opposite in meaning to 4
A) destructive (B) positive
(C} artistic (D) pessimistic.
Pick out the word which has been correctly spelt :
(A) obidient (B) obediant
(C) obedient (D) obidiant.
Which one of the following words has been correctly spelt ?
(A) gramar (B) grammar
(C) grammer (D) gramer.

The doctor said to me, “Do not swim in cold water.”

In Reported Speech the above sentence will be

The doctor advised me

(A) do not swim in cold water (B) that do not swim in cold water
(C) not to swim in cold water (D} to/not swim in cold water.
Pick out the sentence which hasithe sameé meaning as the following sentence :
No person in my village is asiwise as'my uncle.

(A) My uncle is the wisest person in my village.

(B) There is no wise person in my village.

(C) My uncle is the only wise person in my village.

(D) My uncle isswiser than some people in my village.

Pick out the appropriate question tag for the following statement :

You didn’t see him.

(A) didn'tyou? (B) did you ?

(C) isn'tit? (D) aren’t you ?

The word ‘advocate’ is similar in meaning to

A adviser (B) scholar

(C) supporter (D) lawyer.

Which one of the following words is similar in meaning to the word ‘precise’ ?
(A)  brief B) exact

(C) precious (D) expensive.

TR
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76. We decided to put off our visit to Kashmir till October.
‘Put off in the above sentence means
()  arrange B) plan
(C) reject | (D) postpone.
77. There isn’t enough money, so we must cut down expenses.
‘Cut down’ in the above sentence means
(A) reduce in size or amount (B) stop
(©) increase in size or amount (D) revise.
78. They are repairing the bridge.
The passive voice of the above sentence will be
(A) The bridge is repaired (B) The bridge are being repaired
(C) The bridge is being repaired (D)  The bridge has being repaired.
79. Pick out the correct passive voice of the following sentence,:
They carried the injured player off the field.
(A) Off the field was carried by the injured player
(B) The injured player was carried off the field by/them
(C) The injured player be carried off the field
(D) The injured player has‘been carried off the field.
80. He said, “Kavita, when is the next train ?”
The above sentence in Reported Speéech will be
(A) He asked Kavita that whenthe next train was
(B) He asked to/Kavita when was the next train
(C) He asked to Kavita that when is the next train
(D) Heasked Kavita.when the next train was.
81. We must come back by six.
‘Must™in the above sentence expresses
(A) ' possibility (B) advice
(C) desire (D) necessity.
82¢7nComplete the phrasal verb in the following sentence :
You may try hard to hide the truth, but one day the truth will come ............ .
'(A) in B) over
(C) out (D) at.
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Complete the phrasal verb in the following sentence :

People have been complaining about the prices going .................. everyday.
A  wup (B) through
(C) after (D) in.

Complete the phrasal verb in the following sentence :

Many parents were at the railway station to see .................. their children.
a) away (B) at
(C©) off (D) after.

Which one of the following phrasal verbs means ‘to remove’ ?

(A) puton (B) take off
(C) putup (D)  get off.
Which one of the following words is a noun ?

(A) interesting (B) develop
(C) teacher (D) / brave.
Fill in the appropriate determiner :

I have not got ...........ceeunnns money in my bank account.
@) any B) a

€@ afew (D) few.

Supply the correct form©f the verb femember’ in the following sentence :

your name.
(A) am remembering (B) remember
(C) was remembering (D) have remember.

Pick out ’the correct verb form :

She was walking along the road when she ........................ him.
(Ay, met (B) have met
(C) was meeting (D) meet.

Supply a modal which expresses ability :

All of them ........cccovviennns speak three languages.
(&)  may B) wil
(€) must (D) can.
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SECTION - IV / @US - IV
In this Section, there are 2 sub-sections i.e. IV(a) Mathematics and Science and
IV(b) Social Studies. Both the sub-sections consist of 60 Multiple Choice Questions each.
The candidate has to choose either IV(a) Mathematics and Science or IV(b) Social Studies
as selected in the Online Application Form and answer all the 60 questions.
39 @UE H ) IuEUE ¥ IV(a) TUTa den fag wd 1v(b) Wriiferes steaam § m—%m&m
H 60 sgfaseda T § |
wiened =1 IV(a) TOTA T faar SteraT IV(b) |THIRST e, Wwwmwﬁm
T 9 9 frelt t STEve ® AN € W W 60 TR HIW AT |

SECTION - IV (a) / ©@US - IV (a)
MATHEMATICS AND SCIENCE / Tfota @ fagm

There are 60 questions in all in this section. The candidates who have/selected this subject
must answer all the questions.

@ @ve ¥ 3o 609w ¥ | fio srsafefall A 5o fawa &1 o foran € o= Wit WA e et 7

91. The gas responsible for global warming is

@& H, B CO, (© NO, (D) SO,
fava s & fau foer  §
@& H, B CO, © NO, (D) SO,.

92. The atomic number of a nucleus is equal to
(A) number of electrons + number of neutrons
(B) number of neutrons + number of protons
(C) number of protons
(D) number of neutrons.

Tfireh T TTATY] SHHIH SRR BIah R
() TSR A + il H e (B I ! W& + Wl &1 Fem
(C) W =t §e (D) =g ® @ |

93. If acid burn occurs in the laboratory then wash with plenty of water and before
putting vaseline/which of the following first-aids should be performed ?

(A) Wash with sodium bicarbonate solution and again with water

(B) Wash with 1%acetic acid or lemon juice

(C) Cleanwith silver nitrate

(D) “Put simple salt.

SEEIE el | Se W e It @ €N =fEd a1 el o | g6ttt § /@ $E-
WA SPER KT =MMeq ?

@), (eifean TEFEHE 9d | T g9 T | 9

(B) 1% Uifes snet a1 g & W Y €

(C) fooeR 7gee | AF T

(D) QYR Hh Tl |
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A place where small animals like termites, fly, earthworm etc. are cultured according
to their habits is called

(A)  Aquarium (B) Museum

(C) Terrarium (D) Forest.

IE M ST Bl 9 Y — G, Ao, HFYC T 3T WUE F FATER T I E, SN Fwd @
(&) S-SiEeer (B) W™

€ &fEm | D) &1

Which of the following statements is not correct ?

(A) Aims are directives in the educational programmes

(B) Aims could not be achieved only by school programmes
(C) Objectives can achieve by school programmes

(D) Aims and objectives are same.

= 8 | - w2

(a) fan wrfwEA H Sevd fawn frdem o1 9 o €

(B) hadl fommerdt wrEiwA gRI 3899 WK 81 R Hehd

(C) WA Ieva oot Srwn g ww R o1 wed ©

(D) ¥ Td W I A ¢ |

If E , be the peak e.m.f. of alternating current, then'root mean square e.m.f. will be

@ +E, B) E 24 . E,/2 (D) E, /N2.
T st o w1 RIeR fao dof@o E &, @ =i #ed ge fdo do so 1M
@ E, B) EN2

€ E,/2 D) E,/N2.
Detergent is a complex salt.of

(A)  Sodium (B)  Calcium

(C) Carbon (D) Magnesium.
SqHTSIH Sied Tav §

@ wfeT @ B  Hfewam

(C)_ FTEAFH (D) HiferEm &1
Device uised to send text and pictures is |

A teleprinter (B) telex

C) fax (D) none of these.
TH @ @ wl IS ¥ fore e ST w1 S R s § 2

(A) b B) T

© ¥ | D) T FFE T |
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99. Which of the following mixtures of gases are used for welding of metals ?

(A) Oxygen + Hydrogen (B) Oxygen + Carbon dioxide
(C) Oxygen + Methane (D)  Oxygen + Acetylene.
yigsti &t afegn & fag = & | o5 e & fago =1 v fFn s & 2
(A STEES + BRI (B) SATFRASH + FHTe SIFARE
C) e + fidw (D) SRS + gfafedd |
100. Symbol of Tungsten element is
@A w B T
(C) Te (D) Tm.
TR T T GhaleR §
A w B T
(C) Te (D) Tm.
101. Frequency of ultrasound is
(A) <20Hz (B) > 20'Hz and < 20,000 Hz
(C) < 20 Hz and > 20,000 Hz (D) >"20,000 Hz.
ICLE[TS &t A et &
(A) <20Hz (B) 5> 20 Hz 991 < 20,000 Hz
() <20 HzdA > 20,000 Hz (D) [ > 20,000 Hz.
102. Pitch of sound depends on
(A) frequency ‘ (B) wavelength
(C) velocity (D) intensity.
@ & AR iR e §
@) I W B TRHE R
C) W D) e R |
103. The number of magnetic lines of force passing through a given area is known as
(A) Magnetic induction (B) Magnetic intensity
(C) Magnetic flux (D) Magnetic moment.
2 T & [IEEAR TEHIT 9 [@Isil H TS Feard ¢
A) TR G (B) G diad
(Clomy, THIT FAH (D) = AT |
104. A bulb (100 W, 200 V) is connected to a voltage of 160 V. The power dissipation is
A 64w (B) 100 W
€ 32w (D) 160 W.
W ST (100 W, 200 V )R Tk 160 V Sieedl & 1Y SireT 791 ® | wifes 319 g
(A) 64 W (B) 100 W
< 32w (D) 160 W.
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One kilowatt-hour is unit of

(A) energy (B) power

(C) electric charge (D) electric current.
T fopetrare-ser fefas ams € 2

(&) S B) wfw =

(© I & A (D) &I 9 H |
Property of sublimation is found in

(A sodium chloride (B) calcium chloride

(C) ammonium chloride (D) magnesium chloride.
ILEUIGH 1 9T I I § :

(&) wifsgs wiREs o B) Fferm FEe §
© sifEm wEREs | (D) HAifeEm wREs 9
Heat required to increase 1° Celsius temperature of one kilogram water is
(A) 1 calorie (B) 10 calorie

(@] 100 calorie (D) 1000 calorie.

T fHeumE o @1 T feilt dfeaad a9 Sg % o eavs S el §
@ 1%ad B) " 10

(© 100 Fard (D). A1000FA |

Image formed by a convex spherical lens is

(A) imaginary and erect (B) real and erect

(C) imaginary and inverted (D) real and inverted.
TF 39 TeArd q90 | wiafers oar 8

@A) IR TS e (B) dOrfas T drl

(C) I TS I (D) or«fa® T& e |

For an incident ray of light, if mirror is rotated by an angle 6, then reflected ray will
rotate by an angle

@ o (B) 20

G 90° (D) 0°.

T Afad ger fhor & fag, afg gdo &6t 0 o § g e s @ wafda o & guee s
Equll

@a o (B) 20

@ " 90° Dy 0°.

A patient of hypermetropia is given spectacles of

{A)" . lens of zero capacity (B) compound lens
(C) convex lens (D) concave lens.
efe 2 % wiw = = fon o R

@) I &AW A B) fafsa a= =

() 3T« & &l (D) TEad 9 & |
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111. The system affected by AIDS disease is

(A) Digestive system (B) Respiratory system
(C) Central nervous system (D) Immune system.
TSH dRT | yuifaa g1 aren o= §

@A) 9 T (B) \{EATA

© F= af=w o= O wfwen o= |

112. “To every action there is always an opposite and equal reaction.”
The statement is known as

A) Newton's first law (B) Newton’'s second law
(C) Newton’s third law (D) none of these.
"y TRl % wda faula v T aEE wiakean € € 1" 39 U B wed ©
@A)  =gA F vuH frEm B) A = fgdta fram
Q) =g F g faw (D) 78 Q@ FEAE |
113. The rate of doing work is known as
(A) Force (B) Maetion
(C) Power (D) Energy.
FE FE F X FFA €
@) T4 | B (T
© e D) S
114. Which method of heat transmission does not require any medium ?
(A) Radiation B) Convection
() Conduction \ (D) Diffusion.
T EER0 ) wiE-d oty 9 aeam ) snetEehar et o 2
(@) fafe B)  Haed
© =re D) fawmw |
115. With the increase/of pressure, the boiling point of water
A) increases B) decreases
(C) remains unchanged (D) none of these.
T g, F WL qH l FaG®
@  wedE B) we@R
(@ &ufafig w@ R (D) 79 | %K 78T |
116. In a‘typical plant cell the position of nucleus is
(A) \ . Central (B) Peripheral
(C}) Basal (D) anywhere.
U Fredt IRy Hiferent § e w1 feufa S #
@) == B R
(C) = (D) o |

NUREARL 0 | PT.O.
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117.

118.

119.

120.

121.

72 [c]

Which of the following cell organelles is known as powerhouse of the cell ?

(A) Nucleus (B) Nucleolus
(C)  Golgi body (D)  Mitochondria.
=1 7§ form Fif¥repin &t Fifvwet =1 wfoye wer @ @ ?

(B FE B HigH

(C) oSt & (D) TSRO |
The longest stage of mitosis is

(A) Prophase (B) Metaphase
(C) Anaphase (D) Telophase.
Tt favrem & wad ot yrewen §

@A) WH (B)  HHS

C) T (D) ik |
Viral disease is

(A)  Polio (B)  Plague

{(C) Cholera (D) Typhoid.
Ry S W R

(a) e B [

() @RI (D). TEAFEE |
Which of the following deficiencies in'food causes night-blindness disease ?
(A)  Protein (B) Fats

(C) Vitamin A (D)  Vitamin C.
oo & et 8 | o) o @ Wl e g 2

@A) FEE B) G

© Tyt A o) fafm C.

The graphical representation of data in which data is shown by rectangles drawn on
X-axis as basempwhich are of equal width and the space left between any two
rectangles is same, is called

(A)sn,. Histogram (B) Frequency polygon

(C) 4 Bar graph D) None of these.

Hiws! ah wEfad g yeiiia w1 & ag fafy foed e’ s9 el g weivie fd W &
e emuR x-2181 €1, e anuR SeR HISE & B au & A & W9 § B9 T AF SR
B, wheam §

(@A) emEafes ( feeum ) (B) NERdl SgYS

(C) WU D) T T

NURERRRIL W
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122. The values of marks H\H and u/m are

A) 5,5 B) 5, not defined
(C) not defined, 5 (D) 3, 3.

fasl H\H q=n u/ﬂ F WA

(A 5,5 (B) 5, uftenfg T &
(C) omuRifyE, 5 (D) 3, 3.

123. If the data to be represented graphically on Y-axis are in lacs as 1-5, 2-1, 2-7 and 3-3
then which of the following is a suitable scale of choice for one unit ?
(A) Rs. 50 thousands (B) Rs. 30 thousands
(C) Rs. 40 thousands (D) Rs. 60 thousands.

Ifg Y-181 W WHE €9 ¥ weiifa fFd 9 o owe @@ ¥ 1.5, 2.1, 2.7.997 8.3 €, df &%

THIR I YSRIG A & oY SUg® 719 ( et ) DA |1 E ?

(A) 50 TSR %o (B) 30 &RTe (C) 40FR To (D) BOEIR To |
124. In the given circular graph, the decreasing order of the expendituré incurred on

various heads is

Food

Clothes

Savings

Education

House Rent

(A) Education, Savings, Clothes, House rent, Food
(B) Food, House rent, Clothes, Savings, Education
(C) Food, House rent, Education, Clothes, Savings
(D) House rent, Food, Education, Clothes, Savings.

et g o o fafyer oel @ e i aren =9, SalEt FE A §

a) o, 9=a, w98, FEH fFw, @ (B) ®HMI, WM foaen, $9g, =4, e
(©) @, weE TR, faen, sus, s=9d (D) wer fFw, @, e, $ue, =9 |

L [ P.T.O.
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125.

126.

127.

128.

74 [€]

The lengths of 35 leaves of a plant are measured correct to one millimetre, and the
obtained data is represented in the following table :

Length (in mm ) Number of leaves

127 - 135 5

136 - 144 9

145 - 153 12

154 ~ 162 5

163 - 171 4
Is it correct to conclude that maximum number of leaves are
(A) 153 mm long (B) 145 mm long
() 149 mm long (D)  none of these.
forelt @9 =t 35 iRl ) T & ST U faet qe Wt ww @ e Wi ¥

orvarg ( et A ) ufwal & g

127 - 135 5

136 - 144 9

145 - 153 12

154 ~ 162 5

163 ~ 171 4
1 9% Fe 9 ¥ o erfereive: ofter ¥
(&) 153 et Tt (B) (145 Tiyet wit
© 149 et Tt D) | HE T

A triangle and a parallelogram have the same base and the same area. If the sides of
the triangle are 26 cm, 28 em and</30 cm and parallelogram stands on the base
28 cm, the height of the parallelogram is

A 12 cm (B) 16 cm {C) 14 cm (D) 6 cm.

T e ol TR =S @ uR T AR W € | 3 e #) el wEen: 26 94,
28 A aun 30 ¥t ¥ SRR TGS *1 uR 28 A A o €, A TR S #t =
il

@ 129+ (B). )16 &t © 14394 (D) 63 |

In general a book is a solid figure, known as

(A) parallelogram (B) cube
(C) rectangle (D) cuboid.
YRl T fohelsl Tk 219 sepfa & fore am &

(A AR =S B =

€ &Ed D) w9 |

Ram wants to build up a solid cube of side 15 cm. How many cubical blocks of side
5 cm will be required for it ?
@a 9 B) 18 ()] 27 (D) 30.
M T&F 39 ¥4 991 wgd ¢ et ogon 15 9 8 | 39 ferw 54t aﬁraﬁmﬁm
gvﬁﬁ F AEvIERAT TN 2

9 B) 18 (&)} 27 (D) 30.

| [201]
TR
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129. The volume and curved surface area of a right circular cylinder are

(A) 2nmrh, nr2h B) nwr2h, 2rrh
©) % nr2 h, 2nrh (D) =wr?h, nrh.

T FHSIVIG W ST H ST T Toh T FI GT6d &

() 2mnrh, nr2h B) =wr?h, 2nrh
© Lfnr2hn, 2nrh (D) =wr2h, nrh.

3
130. The value of © is given as follows :
3-14159265358979323846264307

The most and the least frequently occurring digits after thefdecimal ‘point are

respectively

@w 3,7 B 7,3
© 3.0 D)y 4, 1.
nSh AE A A gen ®

3-14159265358979323846264307
TS F 9IE FaQ SGE] 3R Ha@ w9 dR) 3T 910l e shEY: ©

@ 37 (B) 7, 8
G 3,0 (D) 4, 1.
131. Alternate angles in the given figure, where two parallel lines are cut by a transversal,

are

/2

3/ 4

5/ 6

7/8
A (4,8)and(2,7) (B) (1,2)and (7, 8)
© (2, 6)andfd,5) M (1,5)and (7, 3).
&3 gu'fem o @ wHiR YEstl B Fedt & frw W F @y 99 g RN S

1/

3/ 4

5/6

7/8
@ (1,8)aa(2,7) B (1,2)du (7,8)
) (2,6)TdwM(1,5) (D) (1.5)3941(7.3).

-~ URRRRRS R | [ PT.O.
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132. In the following figure, the value of angle a is ( here O is the centre of the circle )
D

8

60°

A B
@ 60° B) 20°
© 30° (D)  40°.
A g A RN qgHF AT (TR OTW R FE )

D

A

60°
A \/ B
@A 60° (B} 20°

() 30° (D)  40°.
133. Which of the following statements is incorrect ?

(A) The angle subtended by a chord of a circle at the centre is equal to the angle
subtended by the chord at.any point of the circumference of a circle.

(B) The lengths of the chords situated at equal distance from the centre of a circle
are equal.

(CO) The angles subtended by a chord at different points on the circumference of a
circle are equal.

(D) The perpendicular drawn from the centre of a circle on a chord, bisects the
chord.

5 9 B -5 o I ® ?

() fFEt 90 § T a1 g FR W SR T H SH e gr uify ¥ fee o fag W
A4 T HI F TS T B

B) fFd 39 H Fx R g R feord Shansti # aE SR B §
) et g ¥ e <fian g ufify & orem-otem famgefl W sHE 7T v )R B €
(D) foelt 99 & = | T S W STel T o Sirar ) gafganfed s |

NIRRT
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134.

135.

136.

77 L-2

Given UZ = 5 cm, XU = 4 cm, are sides of the rectangle XYZU.
The area of parallelogram KLZU is

X K Y L
U z
A) 20 cm (B) 10 sq.cm
© 20V2cm (D) 20 sq.cm.
Ea XYZUS o UZ = 598 92 XU = 4 94t ¥,
@ gR wqds KLZU 1 &%
X K Y
L
U Z
@A 209 B 109 &
€ 20v2aH (D) 208 ¥+ |
Hero's formula for the area of a triangle with sides of lengths a, b, cand s =%b+c
is
(A) abc (B) Vs(s-a)(s-b)(s-c)
© VG-a)(s=b)(s=¢c) (D) 4 x Base x Helght.
ﬁmﬁgﬁ%@ﬂm%mfﬂwﬁwﬁab,cﬁ,mmw%(aﬁs=%+—c)
A)  abc B Vs(s-a)(s-b)(s-c)
© VE-al(s-b)(s-c) D) 4 x MR x $E |

Two cars X andrY.are moving from a point A to the point B which are 50 metres apart.
If the speed of X is 10 m/sec and that of Y is 25 m/sec then the time taken by them
to reach to the point B are respectively ’

(A) 2 sec, b sec (B) 500 sec, 750 sec

(C/ b5 sec, 2 sec (D) % sec, % sec.

Afage A BRas o= &t g 50 #ieT B, w1 Xau vyt § | 3fg X wfa 10 91/A
ag Yyt i 25 /A ¥, N S AN F gR AR TR B 0 GgEA A A A TG HALA: W

(A 23 59 (B) 5009, 7509
(© 59 29 (D) ga, -21- q

NI [ PT.O.
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137. Divide Rs. 13,260 between Ram and Shyam in such a way that if Ram gets Rs. 11

138.

139.

140.

then Shyam gets Rs. 15. Then Ram and Shyam will get respectively

A) Rs. 7,650, Rs. 5,610 (B) Rs. 5,610, Rs. 7,650

(C) Rs. 5,100, Rs. 8,160 (D) Rs. 8,160, Rs. 5,100.

13,260 To & U7 3R W # 70 YaR fawfoa ¢ fF afg T+ 11 %o fael & w@m A1 15 %o
39 YR & fawsH # W iR wm & we: el

(A) 7,650%0, 5,610%o0 (B) 5,610 %o, 7,650 To

(C) 5,100%0, 8,160 Fo (D) 8,160%0, 5,100%0 |

Which of the following is incorrect ?

(A) The point of intersection of medians of a triangle is called centroid

(B) The point of intersection of perpendiculars drawn from the vertices of a triangle
on the opposite sides is called orthocentre

(C)  All the three bisectors of angles of a triangle intersect at one point

(D) Median of a side of a triangle is perpendicular bisector of that side.

frAddsh-m s s @ 2

(@A) R B =t wiaesi = wieg fag Fse Feamd

@) T fe o i @ wrm arel e WS e ol @ giiees o o e wearn ®

(€) Tt oy & i il & wufgvee T fag W faea &

(D) e B & son =) wifiges, 39 o W T @t 8,00 99 fgfsa et € |

Which of the following is not the condition of congrueney of two triangles ?

(A) The three sides of a triangle are equal to thé three sides of the other triangle
respectively.

(B) Two sides and the anglefincluded between those sides of one triangle are equal
to two sides and the angle included between them of the other triangle.

(C) Two angles and the side between'them of one triangle are equal to two angles
and the side between them of the other triangle correspondingly.

(D) All the three angles of one triangle are equal to the three angles of other triangle.

= 7 @ F-w FugEnfe &t watrema & f6e e T/ E 2

@A) T e FY G e shEer: g s ) A el % Ser g

B T @ gl T I S R, R Y F D yoel T 3T de & ww
T

C) Th e & Q F9 R ST = F A, TR BE & R0 AR 3T WS e &
SR :

D) & U F A Fro, e B % A B F e 8

If each angle of a quadrilateral is less than 180°, then it is called

(A) concave {B) convex

(C) parallelogram (D) trapezium.
et =g &1 I Hiv Aafg 180° ¥ HH B, A W agyT Fl FEd €
(a) aaH B) SO

C) =R D)  EwEgS |
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141. If the arithmetic mean and geometric mean of two numbers a and b are equal then

(A a+b=ab B) a+b=vab
© +~Ya+b = ab D) a=b.
i forgl Q F&AHA a T b THRR LA T4 UK HILq SR €, o
(A a+b=ab B a+b=+vab
© <Ya+b = ab D) a=h.

142. What will be the compound interest of Rs. 48,000, at the rate of 10% for a period of
1 %years, if the rate of interest is calculated on the basis of six months ?
(A) Rs. 6,566 (B) Rs. 7,566
(C) Rs. 8,566 (D) Rs. 7,577.
48,000 To &1 10% F T 4, 1 La¥ F =hgls = T N, Al = 6 [ T: M & feaw
QA AT W ?
(A) 6,566 %o (B) 7,566 %o
(C) 8,566 %0 D) 7.577%Fc |
143. A shopkeeper marks the price of an article of original cost Rs. 100, after increasing it
by 10%. He then sells it by giving a discount of 10%, to the customer. The price at
which he sold the article is
(A) Rs. 100 (B) Rs. 101
(C) Rs. 99 (D) None of these.
T THARR Rt a5 &1 g, gl arcias e 100 o ¥, 10% g ifra wtam § | 98
I TG W 10% FHIA T TEHh B 990 7, Al S8 98 a&g foraq o § 9=t ?
A) 100 %o (B) 101 %o
(C) 99%o (D) 9 QoK T |
144. Which of the following statements is incorrect ?
(A) If the four quantities a, b, ¢, d are proportional then ax d =b X c.
(B) If a, b, ¢, d are proportional then ac = bd
(C) The inverse proportion of proportion a: bisb: a
(D) Ifdthree quantities/a, b, c are in geometric progression, then b? = ac.
79 7 q HIF-| FF Terd § ?
@) 3fe M@l a b, c, dFAUR ¥, @ axd=bxc
(B) 3d.a, b, ¢, dFHIE €, @ ac = bd

(€) WHANUE a: bF FSHAIG R b: a
(D) aRTET @, b, c TR IMFE, A b2 = ac.

145. The number of members of an institution is 2500. If the number of members in first
year increases by 10% and in the second year decreases by 10%, then after two years
what is the increase or decrease in the number of members ?

A Neither decrease nor increase (B) Increase of 25 members

(C) Decrease of 25 members (D) None of these.

LI | [ P.T.O.
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foreft wieen ® el Y Wem 2500 % | Afk T W vee 76 A 10% wgd A g w ¥ 10%
o WA R, @ S s % 9% 9wl @ o A fhad gfig @ e g 2

@A) 7 gfg T % (B) 25%9H #I G
(© 25TEEl w wH D) T EHE T
2
146. The simplified forms of 222 ,(22)22and(222)2are
(A) 216’44, 162 (B) 44,28,82
© 2 1‘;, 28,82 (D) 162 44 216,
i 222, (22)2%qw (222 )  wmw@ ww ¥
(A) 216'44’ 162 (B) 44,28,82
(C) 216,28 g2 (D) 162,44 216,
147. The factors of expression [x2—2xy+y2]—zzare

A (x+y-z)(x+y+2z) B) (x-y-z)(x-y+2)
C (x-y-z)(x+y+2z) D) (x-y-z)lx-y-2z).
ok (x2-2xy + y2?) - 2z2% oFETS ¥
A) (x+y-z)(x+y+2z) (B) (x+y—-2)(x=-y+2z)
) (x-y-z)(x+y+2z) (D) (x=y-z)lx-y-2).
148. If ax? + bx + ¢ = 0 is an identity in x, then
— \’ 2 _ -
A) X = b+ 2b dac (B) c=0yx=0, x= -b
a a
©) c=o,x='—a13,x=% (D) @=0,b=0,c=0.
afE ax?2 + bx+ c=0, x¥ T FAAHH &, @
_ \/ 2 _ -
A) X = bz 2b dac (B) c=0, x=0, x= -b
a a
© c=0,x=%,x=% M a=0,b=0,c=0.
149. The numerator of a fraction is less by 2 than its denominator. If we subtract 2 from

1
the numerator andradd 2 to. the denominator, then the new fraction obtained is 3 -

What is the original fraction,?

7 3 5 1
A ) (B) 5 (@) 7 (D) 3

T i & et oiw, a7 A 2% ® | afc oEd 3w o ¥ 25 faw W s A 2 few R
aﬁwmmwfw%%,a’tmﬁm%
7 3 5 1

& ) (B) 5 © Z (D) 3

150. If we divide x*-y* by x-y, then the quotient and remainder are respectively

Q) xS+ x2y+xy?+yd, 0 (B) x3-x2y+xy?2+yd3, 0
C© x3+y3 xZ2y+xy? D) x3-y3, x2y-xy?2
e x*-y* & x— yq 9T A 9IRS 3R FawS FEA: T

A x3+x2y+xy?+y3, 0 B x3-x2y+xy?2+y3,0
C) x3+y3 xZ2y+xy? D) x3-y3, x2y-xy-2.

LI
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SECTION -~ IV (b) / ©@UE - IV (b)

SOCIAL STUDIES / QMEI\ah 309

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions.

T EE H A 609w § | F59 el A zu fawa &1 w9 v & SR W wd v sifrard 4

91. The main soyabean producing districts of Rajasthan are

(A) Ganganagar — Hanumangarh (B  Kota — Baran

(© Bundi — Tonk (D)  Jaipur — Dausa.

TS § YR % T S e ¥

(&) TR — ST B) HA — IR

© I —® D)/ SER —Q |
92. In which district of Rajasthan is Tungsten produced ?

(3)  Bhilwara (B Udaipur

(O Nagaur (D) Jaipur.

ToeyH F o foet § e ) 3caE gale ?

W e B) IR

© R (D) AR |

93. Rainwater harvesting is beneficial for
(A)  irrigation
(B) agriculture
(€) _production of hydroelectricity

(D) . improvement of underground water level.

T} ST BT ISR B
(a) fa=m & fog ® T F fau |
() <& faga A & fau D) Hfma 9 "R gurA & fa

LT [ P.T.0.
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94. In Rajasthan, cities located on National Highway No. 15 are
(A) Bikaner — Nagaur — Jodhpur — Pali
(B) Ganganagar — Bikaner — Jaisalmer — Barmer
(C) Jaipur — Ajmer — Udaipur — Dungarpur
(D) Jaipur — Tonk — Bundi — Kota.
oy ¥ et e 15 W fed R §
() SRR — AR — e — el
(B) TR — SR — Sgem — TSR
(€) SR — FTR— IR — FRR
(D) AR — AF— q& — Fler |
95. The second highest peak of Aravali is

(A) Jarga B) Ser

(C) Taragarh D)  Achalgath.

STael! 1 gH S<uad feR €

(@ s B)

(& BECING (D) @l
96. The largest continent of the world is

(A) Africa (B) North America

(C) Asia (D) Antarctica.

gl F1 GO g1 WEEY ©

() s | B) ST s

€ (D) UoeThfew! |
97. ‘U shaped valley is formed by

A) rivers (B) glaciers

(C) winds (D) underground water.

‘U SR &1 =1 fafda gt @

(A) A g7 B femr g

(C)_. FA, B (D) oo\ 9 gN0
98. In which rocks are layers formed ?

(A) Igneous (B) Metamorphic

(C) Sedimentary (D)  All of these.

X T sl # €It € 2

() 3 (B) wUHIfaA

€ oEEr (D) THAG |
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99. The lowest layer of atmosphere is

(A) Stratosphere (B) Troposphere
(C) Ozonosphere (D)  lonosphere.
AYHISH H g e wa ®
() ST (B)  avmvSH
C) 3iiFvvsA (D) WSS |
100. The sea having maximum salinity in the world is
(A) Red Sea (B) Arabian Sea
(C} Dead Sea (D) Baltic Sea.
fawa W waifus w@omEn aen WK §
(A) 9T IR (B) I "R
(C) 7@ ¥R (D) oifees® AR |
101. The Constitution of India was adopted on
(A) 15th August, 1947 (B) 26th ' January, 1950
(G 26th January, 1949 (D) «26th July, 1950.
Reta Sfaum @r] fofan
(A) 15 37T, 1947 &I (B)"wr26 e, 1950 W
(C) 26 ad, 1949 F! D) 26 9FE, 1950 |

102. How many fundamental duties have been mentioned in the Constitution of India
Part 4, Article 51-A ?

(A 10 ' (B) 12
© 15 (D) 11.
IR Giau™ 9rT-4, S8 51-T H AT & fohvat 7o e afvld § 2
@ 10 B 12
© 45 (D) 11.

103. When was, the first meeting of Constituent Assembly held ?

(A) 15th, August, 1947 (B) 26th November, 1949
(C) ,..9th December, 1946 (D) 26th January, 1930.
Gfeuw fmbh T it weelt do% wa AR Fi T off ?

(A) 15 T, 1947 (B) 26 TR, 1949

© 9fm=R, 1946 (D) 26 SFadl, 1930.

NI | PT.O.
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104.

105.

106.

107.

108.

_, 84 [c]
In the Constitution of India the number of Fundamental rights after 44th Amendment
is

A 6 , B 7

€ 8 o) 5.
IR dfaum § 44 o el & 9vEn qo STusRl # dem ¥
A 6 B 7

© 8 (D) 5.

Which is not a characteristic of the Constitution of India ?
(A) Democratic system

(B) Fundamental rights and duties

Q) Employment guarantee to every citizen
(D) Independent judiciary.

R Sfaum &1 HH-w fadrem e § 2

(&) geTaS ggid

(B) O AUFHR TH FHilA

(C) TAF AN Y TSR hi G&A

(D) @ rEUTieTenT |

The meaning of the word ‘Dastak’ is

A Slavery (B) Factory

(C) Port (D) Duty-free trade.
‘T YR | AR § 2

@ e B Hwd

€ 9<TE (D) Y& H AR |

Who was the ruler of Chittorgarh during the invasion ( 1567-68 ) of Akbar ?
(A) Maharana Pratap (B) Maharana Udai Singh
(C) Jaimal (D) Maharana Amar Singh.
IR ¥, feriiele W STHAY ( 1567-68 ) & HHA TEI 1 AESH 1T o1 ?

(A) TEWEN YA B) wWenwn SgF fdw

€ sFFa (D) #ermwn 3R fHe |

Which of the following Mughal emperor's reign was known as the golden period of
Hindi literature ?

(A)  Aurangzeb (B) Akbar

(C)  Jahangir (D)  Shah Jahan.
form et STQeTE F el 1 e wifee o @ g FE I § ?

@) e (B) 3N

(C RhR : (D) &Sl |

IR
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109. The French traveller who visited India for six times was

110.

111.

112.

113.

L-2

(A) Menucci (B) Bernier

(C) Thavenot (D)  Tavernier.

HH- FREE It Y B IR 9IRA H A H 2

(A) A B R

© e D) PR |

How many ranks of Mansabdars have been mentioned by Abul Fazl in) his
Ain-e-Akbari ?

B 22 (B) 33

) 44 (D) 66.
AEA-T-TFe] H el Hotel A FANeRR] 1 fohal AT =1 Ieora fopan 2
B 22 (B) 33

C) 44 (D) 66.

The famous trade centre of Far West during the Gupta period was
(A} Vidisa (B) Purushpur

(C) Ahichhatra (D) Paithan.

TH F1e # gu e # wfes =mmais w5 o

@) fafgm (B) THRUL

© sfessy D) W7 |

The National emblem of India has béeen taken from

(A)  the pillar of Sanchi (B) the pillar of Sarnath
(C) the pillar of Allahabad (D) the pillar of Lumbini.
YR %1 P fag foan T ¢

@A) = " (B) HRAIY W™ H

(C) IEERE &g (D) Qe T™HH |
‘People did not lock their houses.’

About‘which ruler has Fa-hien written this ?

(A)" »Ramgupta (B) Chandragupta I

(C) 4 Chandragupta Vikramaditya (D)  Samudragupta.
A ER A A T T 9

e A fFw www % WR F tw fean ® 2

(a) THTH B) XM I

€ == faswmric (D) S EXTH |

LT
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114. The famous temples of Mahabalipuram were built during the reign of

(A) Pallavas (B) Cholas

(C©) Chalukyas (D) Kakatiyas.
MRS, % g HfiX fore wes & e & ot=ia & ?

A) oo B =«

€ =g (D) AT |

115. For the first time, in which period of Indian History was the registration of birth,and
death of people introduced ?

(A) The Age of Mahajanapadas (B) The Gupta period
(C©) The Kushan period (D)  The Mauryan period.
IR 3feTd § gell IR @l % W= e geg o Ueiae g e B foRar 2
(A)  HESIR B T
© F (D) W
116. The main characteristic of the Indian society is
(A)  unity in diversity : (B) illiteracy
(C) self-sufficiency (D) regionalism.
TR T 1 wge oo &
(&)  3THAT H TewaT (B) wwerferen
© wErEaE D)  WRTEh |

117. Urbanization is the result of
(A) educational development
(B) rural development
(C) migration of{population from villages to cities

(D) agricultural development.
TR0 9RO T

(&) s faE @ B T fawE w1
(©)  THHhA TR IR SFESN A ®1 (D) FH ™ #

118. Regionalism is the main cause of

(A) poverty (B) social tensions
(€) " unemployment (D) globalisation.
feAaETs eI HR0 §

A) T H (B)  wTHIfSIeR TG W
(C) S = (D)  veteRToT &I |
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119. Apart from subject contents, a social study teacher should have knowledge of

(A) objectives of teaching (B) methods of teaching
(C) techniques of teaching (D) all of these.
AR AL & FAeATS S faud-awg & qY-919 I9 A1 A8
(a) foen & sevEl @ ®  foor fafedi @
© T qFE H D) FTHITN |
120. Which is not a cause of poverty in India ?
(A) Unemployment (B) Rapid growth of population
(C) Education (D) Large size of family.
A § T % A SE-91 w2
@ SR B) & s
© fuem (D) T&d @RER |
121. Who was the ruler of Kota during 1857 mutiny ?
(A) Maharao Ram Singh I (B) MaharaoRam Singh II
(C) Maharao Madho Singh I (D) ([ Maharao Ummed Singh I.
1857 ! <1 & FHA hi<l 1 AEH Al
(a) werE W fEw 1 (B) wewE ™ &7 11
() WermE el f6E 1 (D) WERE SWE fE I.
122. The famous Salim Singh Haveli is situated at
(A) Nawalgarh (B) Mukandgarh
(C) Pilani (D) Jaisalmer.
wiag wifem fie gaeh feod §
() g H B TG A
© fagrt D) IR H |
123. Inwhich district is Gogamedi fair held ?
{A) Bikaner (B) Ganganagar
(C) . Hanumangarh (D)  Churu.
foa fot o gt dem @ § 2
(a) SR (B) TR
€ waTE D) 9§ |

LI [ PT.0.
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124. The fort where British General Lord Lake attacked five times, but failed, is

(A) Lohagarh, Bharatpur (B) Bala Fort, Alwar
(GO Mandalgarh, Mandalgarh (D)  Achalgarh, Abu.
e forem, 99 W SN SR A1 Ak 3 W IR TR Fi, foheg STUHA g, ©
() TIeTTE, AR (B) = fohe, s
€ Wigerg, " (D) 7T, M |
125. The first President of Mewar Praja Mandal was
(A) Manikya Lal Verma (B) Balwant Singh Mehta
(C) Bhurelal Baya (D) Ramesh Chandra Vyas.
TS TSIl AUSH & GUH T8
() e @ T (B) werea e wewm
©) R s (D) WHFERSE |
126. Which region of India is associated with ancient Gondwana landmass ?
(A) Himalaya (B)Y Ganga Basin
(C) Thar Desert (D) | Deccan Plateau.
TRE T HIF-91 TS WA TSAE 47 F Fafam, g ?
@) femeE B) T HeH
(C) ¥R e (D)  <f&rwr 1 wBR |

127. In which type of forest iséSundari treé found ?

(A) Tidal forest (B) Temperate forest
(C) Desert forest (D) Mediterranean forest.
g 9% 5T JohR o /& | g S § 7
@ = E (B) - ¥ftdrem =
(C) HEeE o1 (D)  YHSEIEFRIG o |
128. Theecause of winter rainfall in Northern India is
(A) South Western Monsoon (B) Western Cyclonic disturbances
(C) \..Cold wave (D) all of these.
I RA ¥ YTl au 1 HRY ?
(A) <faolt wfeest arE B) U= Thawta faa?m
(€ i W (D) s AW

AGRL AN
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129. Sindri is famous for the production of

(A) Petro-chemical (B) Cotton textile
(C) Chemical fertilizer (D) Cement.
o=l forash seare & fae afag @ 2
@ IR-TEE B ¥t T
© TEfE S (D) EHE |
130. On which river is Bhakra-Nangal Project located ?
(A)  Satlyj : (B)  Ganga
(C) Ravi (D)  Vyas.
MEST-ATe il oy 7l R fe@ § 2
A)  FES B) W
© e (D) =9 |
131. The number of Lok Sabha members elected from Rajasthan is
@ 21 (B) 26
(€ 30 (D)  25.
TS | e % e Faifea waell =t e ?
@ 21 (B) 26
) 30 (D) 25.

132. The President of India is electeddby
(A) the people of India

L-2

(B) elected members of both(the houses of Parliament and State Legislative

Assemblies

(C) the Prime Minister and Council of Ministers

(D) all the Chief Ministers.

YT T TEYF A1 Srar 8
A) ¥RG ¥ TERH G

(B) UEE %M. I wd Uy faurgsy & faifea we= gro

(C) Wil TE, HiaRee % Fewdl gR

The Chief Justice

The Prime Minister.

&

(D) EH& T&AHHEl G |
133. Who is the Supreme Commander-in-Chief of India ?
(A) ([ The Chief of Army Staff B)
(C) The President (D)
IR 1 Fal= S HA ¥ ?
@A) Y@ gy (B)
(€ gyl (D)

JYEEAT |

[ P.T.O.
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134. The Chief Justice of the Supreme Court of India is appointed by

135.

136.

137.

138.

139.

(A) the Vice-President (B) the President

(C) the Prime Minister (D) the President and Prime Minister.
R § Wats = & e < s fgfs

(A  3v-Tgufd ® gl

(C) wurHA (D)  UPUlT TE guEHEA |

Who is the Speaker of Rajya Sabha ?

(A) The Vice-President

(B) The Leader of opposition

() The Home Minister

(D) The person elected by the members of Rajya Sabha.

TG T [ F A grar § 2

A) I9-ugufa B  fouat = A

© T T (D) T & dee g fraifaa =afe |
Who was the leader of First War of Independence ( 1857) at Kanpur ?

(A) Tantya Tope (B) Laxmi Bai

(C) Nana Sahib (D) Kunwar Singh.

ART % Y9 @Al 99 (1857 ) AR § Aqe fHE e o ?

(&)  die 2 B | i

(C) ¥ HEs (D) PR oz |

Who is the author of ‘Majha Pravas’ written during 1857 ?

(A) Vishnubhatt Godse (B) Sitaram Pandey

(C) Narget (D)  Mangal Pandey.

1857 % <RW fafaa gws | ya ' & o ¥

@ o el (B  HRm gy

(O 1 (D) T WUy |

Who has given the title of ‘Rani’ to Gindalau, the great Naga female leader ?
A) Rabindranath Tagore B) Mahatma Gandhi

(C) Jawaharlal Nehru (D) Subhash Chandra Bose.
He™ Arn Afea fireeg 1 ‘TR’ & Sufy frem < o 2

(a) ey TR B  weTE e

(€) SEEET AEe (D) GIYTE NG |

In which language has Mahatma Gandhi written his autobiography ?

(A) . Hindi (B) Marathi

(© Gujarati D) English.

HeTe e 7 o e fee v H et 2

@ &= B) WIS

(C) TSt (D) S
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140. In which year did British Parliament pass a law through which has taken overall the
rights from East India Company ?

(A) 1858 _ (B) 1859
(C) 1860 (D) 1861.
ffew dag = form ad = T8 W §= e 7+ & W AfyaR g9 fad ?
(A) 1858 (B) 1859
(C) 1860 (D) 1861.
141. The tomb of Sheikh Salim Chisti is located at
@ Agra (B)  Delhi
(C) Fatehpur Sikri (D)  Ajmer.
3@ weltm fawd &1 weherr el fogm & 2
@A) A B) feei #
C) HAER WA H (D) SR H |
142. The author of ‘Nuh-i-Sipihar’ is
(A) Amir Khusrau (B) Malik«<Mohd. Jaisee
(C) Dara Shikoh (D) Sheikh Nizamuddin Auliya.
‘T? faftey’ & =R § '
@A) R gEl (B) / wieteh HiewHe SIS
(C) =/ ferere (D) (3@ femgEE sifermn |
143. The chief centre of Chisti School in South India was
(A) Gulbarga B) Golkonda
(C) Bijapur (D) Bidar.
Zfaroit v # fewdt foafael &1 v @ &= o
(A T B) AgUS
€ e (D) =T |
144. The place where Saint Dadu died is
(A) Sambhar (B) Amber
(C) Narayana (D) Pushkar.
T T] F1 T, fohe, 39 W g3 ? |
(&) Wi B) =R
(C) o TRTETN (D) T=RT |
145. Where Saint Jambhoji was born ?
(A) [ Pipasar (B) Gagron
(C} ~Jaitaran (D) Nagaur.
Tl SRS 1 S gl geT o ?
(a) T (B) TRMA
© SAww D) AR |

AR [ PT.O.
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146. Which Harappan building was considered unique in its built in the world by Sir John

Marshall ?
(A)  The Great Bath (B) Granary
(C} Assembly Hall (D)  Fort Palace.
fre TewTEEM 3R Y W W Anfe 3 foava =1 & sgyE fmio wer ?
A) TR EHEPR | | (B SN
C) & WA D) i e |
147. “In India there is unity in diversity and diversity in unity.” Whose statemeft is this ?
(A) A.L.Basham (B) V. A. Smith
() Max Muller (D) Jawaharlal Nehru.
‘yRa B ThaT H hal IR el § Uhar € 1 I8 HYA fREw ® 2
(A) o Tclo FNH HI (B) dflo Wo @@
() Fog Ter & (D) ORI, ATE ol |
148. From which Indus site the evidence of ‘Fire pit’ is found ?
(A) Harappa B) Mohenjodaro
(C) Lothal (D) /Kalibanga.
fradfiffad e e e Fag i § ?
@ T (B HrETSiEE!
© g (D) s |
149. What is the main source of information about Indo-Greek rulers ?
(A) Travellers’ account (B) Coins
(C) Buddhist literature - (D) Jain literature.
o=~ e FER H SFH 6 TS 6’ R 7
W = e B fa
© s ufcH (D) S wfe |
150. Geetads
(A).. Veda (B) Independent Epic
(C) « apart of Ramayana (D)  a part of Mahabharata.
G
@ ax (B O WEHTA

(C) THMU <1 Tsh 4TI (D)  HETYRA 1 TH 41 |
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IN
STRUCTIONS / ‘flgl ot e )

( Read carefully and comply / &=
IMPORTANT / We&=qut

In Section II (Language I) a candidate has to attempt the ti i i

Langusse] (th a nlirgle A)pplic,ation ate he pt the questions of the language W"hlch the candidate has selected as

TUS 11 (W97 1) § I W H A g FON A & R e #w wg st 3 oy 1% w9 7 e sees-un § R ¥

In Section Il (Language II) a candidate has to attempt the questions of the language which the candidate has selected as

Language 1 in the Online Application Form, The Language 11 wﬁl be different from Language I.

@UE ([ ¥ JW WIS & T HT 60 BT S ¢ H AT HT TG A A AW [ F S F FHAAA -q7 & forar &1 wrer 1w o1 @ fo @it

The candidate must ensure that the Question Booklet No. has been filled correctly at the prescribed places in the OMR Answer Sheét.

et OMR ¥iT | T W T GRAFT HHH TE W g

The candidate has to answer of that subject in Section (IVa) Mathematics and Science or (IVb} Social Studies as selected/by the

candidate in the Online Application Form.

If a candidate answers &e questions of the language or subject other than selected in the Online Application,Form, the

candidate shall be personally responsible for it and it would be treated as wrong.

™~ aﬁwmw?%g%wm Ty wE T A (1v) wﬁmwﬁ@wﬁﬁaw%qﬁaﬁmmiﬁmﬁwwwm
Sllﬂaléq AT o |

IR s} 7 ST ae v 8 iy e 4 fawy & e Y e T o I 91 37 Fawa % Wl B gel e € alhae el

! @d Wt FRRY gl qen e e SR

10.

11.

12,

13.

14.

Read complete instructions carefully and fill the details from Sl. No. 1 to 6 in the OMR Answer Sheet and S1.\No. 1 to 4 in the
Question Booklet. If you fail to fill the details and sign as instructed correctly, you will be perSonally responsible for the
consequences arising during scanning of your Answer Sheet. .

H Y FT R v UG mlﬁsﬁounvﬁzﬁgam1ﬁ4aﬁmg%w(§aﬁz.)aﬁﬂiwﬁmwaﬁ%ﬁ
feraor wXd a1 EEER X € O OMR T AT F oy ¥ A TRt & Wi T TE ST al
OMR Sheqt No. should be written in the space provided in the Question Booklet.
OMR ¥l & W # & 7ot Freifa T W ol SH e
The Question Booklet comprises 96 pages having 150 questions. After being instructed topén the Booklet, only then the candidates
will open the Question Booklet seals. Check whether the Bogklet contains 150 questions starting from Page No. 3 to 92, .
T # 96 B TS 150 W &) wemel R R 9 & Su @ v g e S & 6 e gl §
150 W § <t FF e W@ 3 @ W g 92 A €1
All questions are of MCQ (Muitiple Choice Questions) type. There is only,one correct answer to each question carrying one
mark. There will be no negative mlrmﬁat:%qwo answers. . .
it ay Aty R & ¥ RS W w & ﬁ%%lmm%mﬁtﬂﬁﬁww%lwm%fﬁ&mmwﬂﬁﬂwﬁm
All questions other than language questions of Sections II and III shall be bilingual.
WO 99 & WINT Wi @UE I U9 M & W9 & i iw ot 2wl & v fpvmdta gt
In any event of any mistake in any question/s, candidates will not be’ penalized. However no corrections will be made in

uestion /s during the examination. .

mﬁﬁmiﬁ%mmﬁaﬁwwwmﬁﬁﬁm|maﬁ arafy oyt o Rl WP 1 St TR ST SR
Rough work, if any, may be done in the Question Booklet only \in the space provided at the end of the Booklet. Do not tear it off
from the Question Booklet. No additional paper shall be provided. !
foelt WP % % S Y A gRaE & mﬁw%a:—mzﬁmﬁ%lﬁwgﬁ?ﬁﬂ@ﬂﬁml%ﬁmwsﬁaﬁ?ﬁwwaﬁmml

Use of Log tables, Calculator, Slide rule, Mobilé phone, Pager, Digital diary or any other electronic item/instrument etc. is not

%%?ﬁaeh Sej"iurSult?%maisqua%a%’,%ﬁmmﬁmwmwwsﬁﬁﬁﬁm/aﬁwmaﬁa%lsﬁ'
ST ) g ETWWW ] _

OMR Answer Sheet will be provided alonérwith Question Booklet separately.
OMR ¥ig, T & U AARE WE L A
The Question Booklet will be issued at 1:45 P.M. and the candidate must fill all entries in Question Booklet and OMR Answer
Sheet. The Question Booklet seals shall be opened at 2:00 P.M. After opening the Question Booklet, ensure that any page/
question is not missing / not printed / torn / repeated.’In case, gou find any defect anywhere in the Question Booklet, immediately
%nform ltlh‘sﬂllnyigilatog 3.3% %:It it replaced within 110 minutes by the Invigilator. Warning Bell will ring at 3:25 P.M. and the last
ong be ring at 3; M. . ! .
aww:#a?‘tm QAR 1:45: & TR el ofevgs €9 ¥ WA YR sl oMR wie | et ufafet w1 e e
| G 1 GHE 2:00 T &) T YR G, % e W g g gHERe w7 # 6 3ud freifa s gs E m;aa‘r
T ¥/ ourd ot &/ F Gl o A6 B A FIE IS AN 5 T &1 AR T TR H A 3f 9w ST @ ot qenner dverd i giaa Hoaqer
10 fire & ofivY diws ¥ o ge Wﬁdﬂ;ﬁaﬂwa:zswﬁﬁ@aﬁmaﬁ}aﬁ 3:30 W S|
Write your Exam Centre Code, Roll No., OMR Answer Sheet No., Question Booklet No., Name and put your Signature in the
space provided in the Question Booklet as well as in the OMR Answer Sheet. | . . .
I 9 OMR T W Fuiitd ®H W) e F=5 1 $S, Ul T, OMR ¥ HHih, ¥ JReehr Fwish, 7 g 9 1 FwmR HL)
With each question you,will find 4 possible answers marked by the letters A, B, C & D. Read each question carefully and find
out which answer, according to t¥|°u is correct. Indicate your answer by darkeninﬁ the appropriate circle completely in the OMR
lellswg Sheet corresponding to the question. For marking answers use blue/black ballpoint pen only. Gel pens / pencils are not
owed. "
TF W $ 9K A% W A, B, T D H Y ™ ) v w1 wm ¢ 9 WY IW H 99T F IF I F OMR ¥ H wEHa
ma;m%maﬁmvﬁﬁaﬁﬂmwsﬁmﬁlmaﬁwﬁ% e F AT 9 6 & ST F ) A U9 1 oS & I
afer &1

CORRECT / ¥ | yrong method : | WRONG / e | [WRONG / mrerer | [WRONG / Tiere | [ WRONG / TTevar
oXoJNoX IR akisy BOOO| |0Q00| |0000| |00 @

OMR Answer Sheet is designed for computer evaluation. If you do not follow the instructions given above and shown in the
OMR Answer Sheet, it may make evaluation by computer difficult. Any resultant loss to the candidate on the above account
shall be of the candidate only. . . .

OMR ¥IZ H F7geX N1 JedIHa & ford a9/ Ty ¢ 4 o9 o Ud oMR ¥ie ¥ R T Fwll o1 o i FRa, A wg §)
ST Tedicht o & ST | §9 FROT § Thenet ) @ e t IR SWeR! @ & et

Ng cxizal(:géi?lte ih(()juld leave t}’]le Exatx}'::ix}ati'onl Hallbt;?forelthe final b%ll. The Quesgon Booklet as well as the OMR Answer Sheet
shou anded oyer together to_the Invigilator before leaving the Examination Hall,

FE G T U Ao & qd T Wﬂ!‘ﬂ%ﬂw

e St o e S et 1 oM The 7 v R S e

Correct method

W ITRIm L






